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General Instructions :

1. Thequestion paper consists of four sections - A, B, C and D. Section - A consists of 4 questions
of 1 mark each: Section - B consists of 6 questions of 2 marks each; Section - C consists of 10
questions of 3 marks each and Section - D consists of 11 questions of 4 marks each.

All questions are compulsory.

In questions on construction, the drawing should be neat and exactly as per the given
measurements. User ruler and compass only.

There is no overall choice. However, internal choices have been given in some questions.
Attempt any one question in such cases.
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SECTION -'A' (@3$-"31)
Question number 1 to 4 carry 1 mark each.
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1.  Write a pythagorean triplet whose smallest number is 6. 1
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Evaluate by using suitable identity : (176)* - (24)* 1
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SECTION - 'B' (@%-‘®))
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The area of a trapezium 13 176 cmé. The distance between its parallel sides 1s 5 cm
I

ind one of the parallel sides is of length 10 cm. find the length of the other side
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Find the volume of a solid cube whose total surface area is 486 cm?®,
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SECTION - 'C' (@=s-"9)

Question number 11 to 20 carry 3 marks each.
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the square root « f the perfect square ni mber so obtaimned.
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SECTION -'D' (@8-'3))
Question number 21 to 31 carry 4 marks each.
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21.  The students of class VIII of a school donated ¥ 7225 for earth quake victims of
Nepal. Each student donated as many rupees as the number of students in the
class. Find the number of students in the class. Which value is depicted by the
students? 4
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22.  Ina fort, 300 men had provisions for 90 days. After 20 days, 50 men left the fort.
How long now would the food last at the same rate? 4
ferett 2 ¥, 300 smefri & g o0 o 2w S TR 2 20 f & ar,

50 et ¥ =S 9 ¥ S o A 9w S ani o= feremr fomr =enit?

OR ( #1941 )

Ramesh starts his journey to a certain place by car at 9 am. and reaches the
place at 1 p.m., if he drives the car at a speed of 30 km/hr. By how much
should he increase the speed so that he can reach the place by 12 noon?
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How long will a train 210m long take to clear a platform 165 m long, if its speed is
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It her iin over the sale of a suit is € 156, nd the marked price of the suil
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28.  Draw a line segment AB = 6 cm. Find a point QQ on it such that AQ QB
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Alternative question for visually challenged students in lieu of Q. 28
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order s 5 to get a closed heure ABCLD). Find the area of the tigure so obta
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Alternative question for visually challenged student in lieu of Q. No. 29,
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A cylindrical well is 21 m deep. Its inner diameter is 14 m. Find the cost ol
rehovating the inner curved surface and the base at the rate of T 25 per m
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14 cm and its external radius is 9 cm. Find its thickness
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osed metallic cylinder has its base diameter 56 cm and it is 2.72 m
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